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1. Options shown in green color with a tick icon are correct
2. Chosen option on top right of the question indicates the option selected by the candidate
3. The numbers indicated against the Question ID and Option ID are the numbers to be noted and used for raising objections

Section : Part A

Q.1 Which type of drawing uses symbols to represent components, constructs, or relationships in a drawing?

Ans 1. Assembly
# 2. Animation
+ 3. Schematic
/< 4. Pictorial
Question ID : 7079662823
Option 11D : 70796611289
Option 21D : 70796611292
Option 31D : 70796611290
Option 41D : 70796611291
Status : Answered
Chosen Option : 4
Q.2 A quadrilateral with equal sides, whose angles are NOT right angles, is known as:
Ans o 1. thombus
< 2. trapezium
/< 3. rectangle
/X 4. square
Question ID : 7079662821
Option 11D : 70796611283
Option 21D : 70796611284
Option 31D : 70796611282
Option 41D : 70796611281
Status : Answered
Chosen Option : 2




Q3 Find the mean of the range and the mode of the given data.

6001 1748 3. 1.9, 5.0
Ans X1, 15.6

X2 154

V3 145

K4 142

Question ID : 7079662871
Option 11D : 70796611484
Option 2 ID : 70796611483
Option 31D : 70796611482
Option 4 ID : 70796611481
Status : Not Answered
Chosen Option : --

Q.4 4/5th of a piece of cloth was used to make ribbons of length 100 cm. What was the length of the cloth at the beginning?

Ans 1. 120 cm

v 2 125 cm
<3 135ecm
X 4 130 cm
Question ID : 7079662855
Option 11D : 70796611418
Option 2 ID : 70796611417
Option 31D : 70796611420
Option 4 ID : 70796611419
Status : Answered
Chosen Option : 2
Q.5 Which of these musicians was NOT a part of the famous rock band The Beatles?
Ans X 1. George Harrison
o 2. Lars Ulrich
/< 3. Paul McCartney
/< 4 Ringo Starr
Question ID : 7079662809
Option 11D : 70796611235
Option 2 ID : 70796611234
Option 31D : 70796611233
Option 4 ID : 70796611236
Status : Not Answered
Chosen Option : --

code for 'and'.

Ans x1, 7
V29
X33

Q.6 Inacode language, 517 means 'sheep gives wool', 173 means 'sheep gives milk', 395 means 'wool and milk'. Find the




Question ID : 7079662880
Option 11D : 70796611520
Option 21D : 70796611517
Option 31D : 70796611519
Option 41D : 70796611518
Status : Answered
Chosen Option : 2
Q7 An object with a specific mass will weigh
Ans X 1. zero on the Earth
< 2. less on the Earth than on the Moon
+ 2 more on the Earth than on the Moon
/< 4. equal on the Earth and the moon
Question ID : 7079662811
Option 11D : 70796611244
Option 2 ID : 70796611242
Option 31D : 70796611241
Option 4 ID : 70796611243
Status : Answered
Chosen Option : 3
Q.8 In which years did India win the ICC Cricket World Cup (Men’s 50 over tournament)?
Ans 1. 1996 and 2011
& 2 2003 and 2015
& 3. 1983 and 2003
v 4 1983 and 2011
Question ID : 7079662801
Option 11D : 70796611204
Option 2 ID : 70796611201
Option 31D : 70796611202
Option 4 ID : 70796611203
Status : Answered
Chosen Option: 4
Q.9 A cylindrical wire of length L and radius r has a resistance R. The resistance of another wire of same material but
having four times its length and half its radius will be:
Ans X1 8R
X2R
X3 12R
v 4 16R
Question ID : 7079662842
Option 11D : 70796611366
Option 2 ID : 70796611365
Option 31D : 70796611367
Option 4 ID : 70796611368
Status : Not Answered




Chosen Option : --

&1 Find the odd set of letters from the given alternatives.
Ans  of 1. OQS

X 2. GEC

X3 YWU

X 4 MKI

Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 41D :
Status :

Chosen Option :

7079662893
70796611570
70796611572
70796611569
70796611571
Answered

1

Ans 3 1. Vladimir K Zworykin
/< 2. John Logie Baird

#< 3. Philo Farnsworth
« 4. Christiaan Huygens

Q1'1 Which of these scientists is NOT linked with the invention of television?

Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 41D :
Status :

Chosen Option :

7079662804

70796611216
70796611213
70796611214
70796611215
Not Answered

°é1 Choose the figure which is different from the rest.

Ans




Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 41D :
Status :

Chosen Option :

7079662897
70796611587
70796611586
70796611588
70796611585
Answered

4

Qé'l What is the area of the parallelogram whose base is 5 cm and corresponding height is 6 cm?

W30 cm?
X 2 15 cm?
X 3 60 cm?
K 4 45 cm?

Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 41D :
Status :

Chosen Option :

7079662857
70796611426
70796611425
70796611428
70796611427
Answered

1




4
Ans of 1 friction
< 2 load
/< 3. velocity
X 4 effort

Q.1 In practice, the work output of a machine is always less than the work input due to the effect of

Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 41D :

Status

7079662836

70796611344
70796611343
70796611342
70796611341

: Not Answered
Chosen Option :

%' What is the unit digit of 368 x 473 x 151019
Ans J1_ 0

v

X23
X3 7
Xas
Question ID : 7079662852
Option 11D : 70796611408
Option 2 ID : 70796611407
Option 31D : 70796611406
Option 4 ID : 70796611405
Status : Not Answered
Chosen Option : --
061 If both mass and speed of a ball are doubled. the kinetic energy becomes times.
Ans x 1. =8
X2 16
X34

Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 41D :
Status :

Chosen Option :

7079662817
70796611265
70796611268
70796611266
70796611267
Answered

4

6-2x4+10+5=6
Ans x1_ % and -
< 2 +and *

07-1 Which two signs should be interchanged to make the given equation correct?




A 3 +and+

W 4 +and x
Question ID : 7079662883
Option 11D : 70796611531
Option 2 ID : 70796611530
Option 31D : 70796611532
Option 4 ID : 70796611529
Status : Answered
Chosen Option : 2
a is an improvement on WEP used in Wi-Fi networks.
Ans 1. SAAS
X 2 SSL
v 3 WPA
& 4 POP
Question ID : 7079662832
Option 11D : 70796611327
Option 2 ID : 70796611328
Option 31D : 70796611326
Option 4 ID : 70796611325
Status : Not Answered
Chosen Option : --
0; If COWARD is coded as XLDZIW, then how will HEN be coded as?
Ans x 1. RQS
< 2 MLN
X 3. FEG
v 4 SVM
Question ID : 7079662881
Option 11D : 70796611522
Option 2 ID : 70796611523
Option 31D : 70796611524
Option 4 ID : 70796611521
Status : Answered
Chosen Option: 4

Q.2 Two trains start moving towards each other when they are 2,500 m apart. The first train is travelling at a speed of 15 m/s
0  and the other one, at 10 m/s. After how much time will they meet?

Ans of 1. 100 s
X2 80s
K3 955
X4 85s

Question ID : 7079662859

Option 11D : 70796611436
Option 2 ID : 70796611433
Option 31D : 70796611435




Option 4 ID : 70796611434
Status : Answered
Chosen Option : 1
%2 20% of 125% of 160 =2
Ans X1 38
v 2 40
X 3 35
< 4 50
Question ID : 7079662870
Option 11D : 70796611478
Option 2 ID : 70796611479
Option 31D : 70796611477
Option 4 ID : 70796611480
Status : Answered
Chosen Option : 2
Q.2 A cubical block with sides 10 cm. having a mass of 600 g. floats in fresh water. How much of the block’s volume is
2 submerged in the water?
Ans of 1. 60 %
<2 20%
< 3 40 %
< 4 80%
Question ID : 7079662819
Option 11D : 70796611275
Option 21D : 70796611273
Option 31D : 70796611274
Option 4 ID : 70796611276
Status : Not Answered
Chosen Option : --
%2 One Coulomb charge is equal to the charge of about electrons.
Ans x 1. 6 x 1012
X2 6100
x 3. 101?
v 4 6% 1018
Question ID : 7079662847
Option 11D : 70796611386
Option 21D : 70796611387
Option 31D : 70796611385
Option 4 ID : 70796611388
Status : Answered
Chosen Option: 4

Ans

92 What is the midpoint of the line segment joining (-2, -1) and (-5, -3) ?




X1 (-7/2,2)

“ 2. (-?";2- _2)
X3 (-512,2)
x 4. (_5[;2‘ -2}
Question ID : 7079662864
Option 11D : 70796611454
Option 2 ID : 70796611456
Option 3 ID : 70796611455
Option 4 ID : 70796611453
Status : Answered
Chosen Option : 2
92 Birju Maharaj is a renowned virtuoso in which dance form?
Ans 3 1. Mohiniattam
/< 2. Bharatanatyam
X 3 Odissi
v 4 Kathak
Question ID : 7079662810
Option 11D : 70796611240
Option 2 ID : 70796611237
Option 3 ID : 70796611239
Option 4 ID : 70796611238
Status : Not Answered
Chosen Option : --
Qéz How many schedules are currently there in the Constitution of India?
Ans X110
X2 25
X3 14
v 12
Question ID : 7079662806
Option 11D : 70796611224
Option 2 ID : 70796611221
Option 3 ID : 70796611222
Option 4 ID : 70796611223
Status : Answered
Chosen Option: 4

Q.2
7

Ans 1. Wired equivalent privacy
X 2 7Ip

X 3. Viral

v 4 Wi-Fi

is a technology that allows computers and other devices to communicate via a wireless signal.




Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 41D :
Status :

Chosen Option :

7079662833
70796611329
70796611330
70796611331
70796611332
Answered

4

% What is the minimum number of lines
required to make the given image?

/5

Ans X111
X209
V'3 10
X412

Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 41D :
Status :

Chosen Option :

7079662895
70796611579
70796611577
70796611578
70796611580
Answered

3

@2 Choose the figure which is different from the rest.

Ans

B INAN
>V<




X 3.

Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 41D :
Status :

Chosen Option :

7079662898

70796611590
70796611592
70796611589
70796611591
Not Answered

Q.3 A, B. Cand D are sitting around a round table. C does not want to sit next to B. D is to the right of C. Which of the
0 following statements is FATL.SE?

Ans 3 1. B is to the right of D

/X 2. Bis between A and D
/< 3 Aisfacing D

v 4 A is between D and C

Question ID :
: 70796611584
: 70796611583
: 70796611582
: 70796611581
: Answered

Chosen Option :

Option 11D
Option 2 ID
Option 31D
Option 4 ID

Status

7079662896

4




1

Lion : Meat :: Cow : ?

Q.3 Select the option that is related to the third term in the same way as the second term is related to the first term.

Ans X 1. Calf
X 2 Milk
< 3. Bull
v 4 Grass
Question ID : 7079662876
Option 11D : 70796611502
Option 2 ID : 70796611504
Option 31D : 70796611501
Option 4 ID : 70796611503
Status : Answered
Chosen Option: 4
3 . .
°2 In the following figure, square represents
Therapists, triangle represents Geneticists,
circle represents yoga practitioners and rectangle
represents Fathers. Which set of letters represents
yoga practitioners who are fathers?
H / L
ML AN
D kC
Bl |
E \ E
G
Ans x 1. DC
X2 cM
v 3 CBIK
X4 TF
Question ID : 7079662888
Option 11D : 70796611551
Option 2 ID : 70796611552
Option 31D : 70796611550
Option 4 ID : 70796611549
Status : Answered
Chosen Option: 3

% Ifa+~b=12andab=32, thenal+b2=2
Ans x1' 76




v 2 80

Chosen Option :

<3 84
XaT2
Question ID : 7079662862
Option 11D : 70796611446
Option 2 ID : 70796611447
Option 31D : 70796611448
Option 4 ID : 70796611445
Status : Answered
Chosen Option : 2
Q.3 An object travels the first 200 m in 20 s and the next 200 m in 30 s. The average speed of the object is
4
Ans of 1. 8 mis
X 2 6m/fs
X 3 12m/s
X 4 4mfs
Question ID : 7079662845
Option 11D : 70796611379
Option 21D : 70796611378
Option 31D : 70796611380
Option 41D : 70796611377
Status : Answered
Chosen Option: 1
%3 Find the median of the given data.
1283 V1.5 2906 4.1
Ans o1 g
X226
<309
F
Question ID : 7079662872
Option 11D : 70796611487
Option 2 ID : 70796611485
Option 31D : 70796611488
Option 4 ID : 70796611486
Status : Answered

1

Q.3 The distance from a point on a thread to the corresponding point on the next thread of a screw is called
6

Ans 1. hatch
< 2 flute
W 3. pitch
X4 jig




Chosen Option :

Question ID : 7079662824
Option 11D : 70796611295
Option 2 ID : 70796611296
Option 31D : 70796611293
Option 4 ID : 70796611294
Status : Not Answered
Chosen Option : --
Q.3 A current of 2 A is drawn by the filament of an electric bulb for 2 min. Find the amount of electric charge that flows
7 through the circuit.
Ans X1 360 C
<2 60C
X3 120C
v 240C
Question ID : 7079662848
Option 11D : 70796611391
Option 2 ID : 70796611392
Option 31D : 70796611389
Option 4 ID : 70796611390
Status : Not Answered
Chosen Option : --
Q§3 Which of the following acts as an inferface between the CPU and the main memory?
Ans 3¢ 1. Magnetic tape
X 2 Hard Disk
/< 3. Compact Disk
+ 4 Cache memory
Question ID : 7079662831
Option 11D : 70796611324
Option 2 ID : 70796611321
Option 31D : 70796611322
Option 4 ID : 70796611323
Status : Answered
Chosen Option : 4
93 In class 1 levers, effort and load moves in
Ans o 1. opposite directions
/< 2. directions depending upon the load
/< 3. perpendicular direction
X< 4. the same direction
Question ID : 7079662837
Option 11D : 70796611346
Option 21D : 70796611347
Option 31D : 70796611348
Option 4 ID : 70796611345
Status : Answered

1




8

0 oercod. Dovodn SEHE Does?
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Ans X 1. 325
V2 321.55
X 3 F125
X 4 F121.55

Q.4 1,000 Je=6s 5% o5& Sy 2 gD oo Do 98 HE GeD 4 oD e BEDHED Deved

Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 41D :
Status :

Chosen Option :

7079662861

70796611443
70796611441
70796611444
70796611442
Not Answered

1

of the building. (Use acceleration due to gravity, g = 10 m.lsz)

Q.4 A ball, initially at rest, falls freely from the top of a building and reaches a maximum velocity of 40 m/s. Find the height

Ans X1 70 m
< 2 60m
V'3 80m
A 4 50m
Question ID : 7079662843
Option 11D : 70796611371
Option 2 ID : 70796611370
Option 31D : 70796611372
Option 4 ID : 70796611369
Status : Answered
Chosen Option: 3
°é4 e QocsIre)) 38 DHGeeD
Ans X 1. Pers
X 2 Dok
/< 3. AT
v WRT ey SB0ST"D
Question ID : 7079662813
Option 11D : 70796611250
Option 2 1D : 70796611251
Option 31D : 70796611249
Option 4 ID : 70796611252
Status : Answered
Chosen Option : 3

3

4/5:0.8::5/8:7?

Ans X1 (0.125

Q.4 Seclect the option that is related to the third term in the same way as the second term is related to the first term.




v 2 0.625

< 3. 0.04
< 4.0.025
Question ID : 7079662877
Option 11D : 70796611506
Option 2 ID : 70796611505
Option 31D : 70796611507
Option 4 ID : 70796611508
Status : Answered
Chosen Option : 2
Q.4 A certain sum amounts to ¥1,323 in 2 years and to $1389.15 in 3 vears at 1% p.a., when the interest is compounded
4 yearly. What is the value of r?
Ans x 1. 6
X2 4
v s
X425
Question ID : 7079662860
Option 11D : 70796611440
Option 21D : 70796611438
Option 31D : 70796611437
Option 4 ID : 70796611439
Status : Not Answered
Chosen Option : --
04 If4/9 :x=2/3:16/81,thenx ="?
Ans 1. 16/121
X 2 48/121
V'3 32243
X 4 24/243
Question ID : 7079662869
Option 11D : 70796611473
Option 2 ID : 70796611476
Option 31D : 70796611474
Option 4 ID : 70796611475
Status : Answered
Chosen Option: 3

6
Ans

Q.4 Which of the following Venn diagrams best represents the relationship between tables. chairs and lamps?




X
X

v

| QQQ

Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 41D :
Status :

Chosen Option :

7079662889
70796611556
70796611554
70796611555
70796611553
Answered

4

@4 Ideal machines are those imaginary machines which are
Ans X 1. loadless

/< 2. with zero velocity

v 3. frictionless

< 4 effortless

Question ID :
Option 11D :
Option 2D :
Option 31D :
Option 41D :

7079662835

70796611337
70796611340
70796611339
70796611338




Chosen Option :

Status : Not Answered
Chosen Option : --
Q.4 The volume of a given amount of water when its temperature is increased from 0 °C to 4 °C.
8
Ans 1. decreases
& 2. first increases and then decreases.
v 3. remains the same
< 4 increases
Question ID : 7079662828
Option 11D : 70796611311
Option 21D : 70796611312
Option 31D : 70796611309
Option 4 1D : 70796611310
Status : Answered
Chosen Option : 3
Q4 Where is the head office of State Bank of India, located?
Ans X 1. Kolkata
/< 2. Hyderabad
# 3. New Delhi
' 4 Mumbai
Question ID : 7079662808
Option 11D : 70796611230
Option 2 ID : 70796611229
Option 31D : 70796611232
Option 4 ID : 70796611231
Status : Not Answered
Chosen Option : --
065 A car, starting from rest, is moving with a constant acceleration 3 m/s?. Find the distance travelled by this car in 10 5.
Ans of 1150 m
<2 250m
X 3 100m
/< 4 200m
Question ID : 7079662844
Option 11D : 70796611374
Option 2 ID : 70796611376
Option 31D : 70796611373
Option 4 ID : 70796611375
Status : Answered

1

1 will hose A take to fill the remaining pool?

Ans 1. 1.5 minutes

v 2. 2 minutes

Q.5 Hose A and B can fill a pool in 5 and 10 minutes respectively. After 2 minutes, hose B gets blocked. How much time




/< 3. 2.5 minutes

/< 4 1 minutes

Question ID : 7079662867
Option 11D : 70796611468
Option 2 ID : 70796611465
Option 31D : 70796611467
Option 4 ID : 70796611466
Status : Answered
Chosen Option : 2
Q.5 AandC cando awork in 12 days while A, B and C can do the work in 4 days. In how many days can B do the work
2 glone?
Ans 1. 6 days
X 2. 4.67 days
/< 3. 5.67 days
X 4. 5.25 days
Question ID : 7079662874
Option 11D : 70796611496
Option 2 ID : 70796611493
Option 31D : 70796611495
Option 4 ID : 70796611494
Status : Answered
Chosen Option: 1
Q.5 When two bodies are in thermal contact, heat flow will occur between them if they differ in
3
Ans 1. mass
+ 2. temperature
/< 3. density
/< 4. specific heat
Question ID : 7079662826
Option 11D : 70796611301
Option 2 ID : 70796611303
Option 31D : 70796611302
Option 4 ID : 70796611304
Status : Answered
Chosen Option : 2

Q5 The SI unit of heat energy transferred is expressed in
Ans X 1. Kilowatt

v 2 Joule

/< 3. Amperes

< 4 Kelvin

Question ID : 7079662827
Option 11D : 70796611306




Option 2 ID : 70796611307
Option 31D : 70796611308
Option 4 ID : 70796611305
Status : Answered
Chosen Option : 2
Q.5 A statement is given followed by some conclusions which are given as option. Choose the conclusion that logically
5  follows from the given statement/s.
Statement: Road accident numbers are halved if number of traffic police is doubled.
Ans x 1.
Where there are no road accidents, there is no need to deploy traffic police.
/< 2. All traffic accidents are due to absence of traffic police.
v &)
If number of traffic police reduces, then number of road accidents increase.
F
If salary of traffic police is doubled. road accidents will halve.
Question ID : 7079662892
Option 11D : 70796611568
Option 21D : 70796611566
Option 31D : 70796611565
Option 41D : 70796611567
Status : Answered
Chosen Option: 3
Q.5 Two resistors, each of 10 Q, are connected in parallel. This combination is then connected in series with a third 10 Q
6 resistor and a 6 V battery. The current in the circuit is
Ans X' 1. 1.8 A
X2 09A
Vi3 04A
K4 02A
Question ID : 7079662850
Option 11D : 70796611400
Option 21D : 70796611399
Option 31D : 70796611398
Option 4 ID : 70796611397
Status : Answered
Chosen Option : 3
Q.5 AOPQ is similar to ARST. If the ratio of OP : RS is 3 : 5 and if PQ = 6 cm, then the length of ST is:
7
Ans ' 1. 10 cm
< 2 8cm
<3 12cm
A 4 5cm
Question ID : 7079662865
Option 11D : 70796611459
Option 21D : 70796611458
Option 31D : 70796611457




Option 4 ID
Status
Chosen Option

: 70796611460
: Answered
|
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Question ID : 7079662868
Option 11D : 70796611471

Chosen Option :

Option 2 ID : 70796611472
Option 3 ID : 70796611470
Option 4 ID : 70796611469
Status : Answered
Chosen Option : 2
°é5 The efficiency of a simple machine is defined as
Ans X 1. velocity ratio x mechanical advantage
/< 2. velocity ratio / mechanical advantage
+ 3. mechanical advantage / velocity ratio
/X 4.1/ (velocity ratio x mechanical advantage)
Question ID : 7079662834
Option 11D : 70796611335
Option 2 ID : 70796611333
Option 3 ID : 70796611334
Option 4 ID : 70796611336
Status : Answered
Chosen Option : 3
Q.6 A girl of mass 40 kg climbs up a rope through a height of 6 m in 16 s. The power expended by her is . (Take g
0 _jomsd)
Ans X1 210 W
K2 240 W
X3 40W
v 150 W
Question ID : 7079662815
Option 11D : 70796611259
Option 2 ID : 70796611260
Option 3 ID : 70796611257
Option 4 ID : 70796611258
Status : Not Answered

01-6 If ¥ is the greatest 4-digit number that is divisible by 237, then the sum of digits of X is:




Ans .24

- 29
- 31
27

Question ID
Option 11D
Option 2 ID
Option 31D
Option 4 ID

Status

1 7079662851

170796611401
: 70796611403
: 70796611404
: 70796611402
: Not Answered
Chosen Option :

2° Find the odd word from the given alternatives.

Ans 1. Wicket-keeper

X 2. Fielder
/< 3 Bowler
v 4 Batsman
Question ID : 7079662894
Option 11D : 70796611574
Option 21D : 70796611575
Option 31D : 70796611573
Option 41D : 70796611576
Status : Answered
Chosen Option : 4
Q.6 Given below are two statements, followed by three conclusions, L. I and III. You have to consider the statements to be
3 trueevenif they seems to be at variance with commonly known facts. You have to decide which of the given
conclusions, if any, follow(s) from the given statements.
Statement 1 : All polymers are plastic.
Statement 2 : No rubber is plastic.
Conclusion I : Some polymers are rubber.
Conclusion IT : Some plastics are polymer.
Conclusion ITI : No polymer is rubber.
Ans 1. All conclusions I, IT and III follo
+ 2. Only conclusion II and III follow
/< 3. Only conclusion I and III follow
/< 4. Only conclusion I and IT follow
Question ID : 7079662887
Option 11D : 70796611548
Option 2 ID : 70796611546
Option 3 1D : 70796611547
Option 4 ID : 70796611545
Status : Answered
Chosen Option : 2

4 & Qmean, if R has only one daughter?

Q.6 IfE % F means E is father of F, E & F means E is sister of F and E $ F means E is wife of F, then what doesPSR % S




Ans 1. Q is sister of P
X 2. P is father of Q
+ 3 Qissonof P
/< 4 Q is daughter of P

Question ID : 7079662884
Option 11D : 70796611536
Option 2 ID : 70796611535
Option 31D : 70796611533
Option 4 ID : 70796611534
Status : Answered
Chosen Option : 3
Qé6 Choose the correct option from the given ones to complete the given series.
6.8,55,42,29 7203
Ans X1 1.3
V216
K3 23
<419
Question ID : 7079662879
Option 11D : 70796611513
Option 2 ID : 70796611516
Option 31D : 70796611514
Option 4 ID : 70796611515
Status : Answered
Chosen Option : 2
Q¢ The SI unit of potential difference is :
Ans 1. Ampere
& 2. Coulomb
v 3. Volt
X 4 Tesla
Question ID : 7079662846
Option 11D : 70796611381
Option 2 ID : 70796611382
Option 31D : 70796611383
Option 4 ID : 70796611384
Status : Answered
Chosen Option : 3

Q.6 Ina certain code language, '+ represents "', '-' represents '+, 'x' represents '+ and '+ represents -'. Find out the answer
7 tothe following question.

12+3%x4-6="

Ans x1_4
v 2 15




X35
X410

Question ID : 7079662882
Option 11D : 70796611528
Option 2 ID : 70796611526
Option 3 1D : 70796611527
Option 4 ID : 70796611525
Status : Answered
Chosen Option : 2
Q6 opd comdE” Db erdn DR WK DODBOD FIO N[ DAYBOT &feo B Gotnod.
8
Ans 1180
X290
X3 270
X 4 360
Question ID : 7079662812
Option 11D : 70796611246
Option 2 ID : 70796611245
Option 31D : 70796611247
Option 4 ID : 70796611248
Status : Answered
Chosen Option: 1
Q.6 Given below is a statement followed by two conclusions numbered I and II. You have to assume everything in the
9  statement to be true and decide which of them logically follow(s) from the statement beyond a reasonable doubt from
the information given in the statement.
Statement: In all developing countries, population is increasing. All developing countries are facing shortage of drinking
water.
Conclusion I: In developing countries, if population decreases, then per person availability of drinking water will rise if
availability of drinking water is fixed.
Conclusion II: In some developing countries. population could be decreasing. yet they will have shortage of drinking
water.
Ans o 1. Only conclusion I follows
# 2 BothI and II follow
/< 3. Only conclusion II follows
# 4 Neither I nor II follows
Question ID : 7079662891
Option 11D : 70796611561
Option 2 ID : 70796611563
Option 31D : 70796611562
Option 4 ID : 70796611564
Status : Answered
Chosen Option: 1

0 surfaces. The rate of heat flow through the sheet [thermal conductivity is 0.01 J/( s m K)] is:

Ans 1. 1.0 J/s
v 2201

Q7 a styrofoam sheet of thickness 5 cm and area 0.25 m? has a temperature difference of 40 °C between its inner and outer




X 34017/
X4 3.0/

Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 41D :
Status :

Chosen Option :

7079662840

70796611357
70796611358
70796611360
70796611359
Not Answered

Q.7 2 = &
;. Density of ice is
Ans 5 1. negligible
/< 2. equal

75 3. more

v 4 less

compared to density of water.

Question ID
Option 11D
Option 2 ID
Option 31D
Option 4 ID

Status

17079662818
170796611272
170796611271
170796611270
170796611269
: Answered
Chosen Option :

2

Q.7 - - - -
, In general, battery capacity is written in
Ans o 1. Ampere-hour

X 2. kilowatt hour
X 3 Tesla
/5 4. Ampere

Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 41D :
Status :

Chosen Option :

7079662849
70796611395
70796611394
70796611396
70796611393
Answered

2

average velocity between time 2 s and 6 57

Ans X1 18 m/s
X 2 8m/s
K 3 12m/s
v 416 m/s

Q.7 an object starts from rest at x = 0 m and t = 0 s. It moves with constant acceleration 4 m/s? along x axis. What is its

Question ID : 7079662838
Option 11D : 70796611352
Option 2 ID : 70796611349




Chosen Option :

Option 31D : 70796611350
Option 4 ID : 70796611351
Status : Not Answered
Chosen Option : --
Q.7 The Hornbill Festival, also known as ‘the Festival of Festivals’, is celebrated in which Indian state?
4
Ans 3 1. JTammu and Kashmir
X 2 Andhra Pradesh
X 3. Sikkim
+ 4 Nagaland
Question ID : 7079662803
Option 11D : 70796611209
Option 21D : 70796611211
Option 31D : 70796611212
Option 41D : 70796611210
Status : Not Answered
Chosen Option : --
Q.7 The oxides of carbon, nitrogen and sulphur that are released on burning fossil fuels are
5
Ans of 1. acidic oxides
& 2 silver oxides
/< 3. copper oxides
< 4 base oxides
Question ID : 7079662814
Option 11D : 70796611254
Option 21D : 70796611256
Option 31D : 70796611255
Option 4 ID : 70796611253
Status : Not Answered
Chosen Option : --
Q.7 Two resistors, one of 8 Q and the other of 24 Q are connected in parallel. This combination is connected in series with a
6 14 Qresistor and a 12 V battery. The current in the 8 Q resistor is:
Ans X1 0.15A
V2 045A
<3 0.60 A
X4 030A
Question ID : 7079662841
Option 11D : 70796611361
Option 21D : 70796611363
Option 31D : 70796611364
Option 41D : 70796611362
Status : Answered

3

7

average age (in years) of the family just before the birth of the youngest member?

Q.7 The average age of a family of 6 members is 25 years with the youngest member being 8 years old. What was the




Ans X 1.20.3
<220
V'3 204
X 4 202

Question ID
Option 11D
Option 2 ID
Option 31D
Option 4 ID

Status

: 7079662875

: 70796611499
: 70796611497
: 70796611500
170796611498
: Not Answered
Chosen Option :

Ans X 1. 2714
X 2. 2691
< 3. 2760
v 4 2737

Q7 What is the difference between the HCF and LCM of 184 and 345°?

Question ID
Option 11D
Option 2 ID
Option 31D
Option 4 ID

Status

: 7079662856

: 70796611422
170796611421
170796611424
170796611423
: Not Answered
Chosen Option :

Ans X1 0.87
X 2047
V3167
X4127

Q§7 What is the work required to increase the speed of a 0.4 kg ball from 1 m/s to 3 m/s?

Question ID
Option 11D
Option 21D :
Option 31D :
Option 41D :
Status :

Chosen Option :

: 7079662816
170796611262

70796611261
70796611264
70796611263
Answered

1

silver is 236 Tkg 'K ™1)
Ans X 1.12707
X 24507
V'3 9447
< 4 19887

Q.8 How much heat should be transferred to a 100 g block of silver to raise its temperature by 40 °C? (Specific heat of

Question ID : 7079662839




Chosen Option :

Option 11D : 70796611355
Option 2 ID : 70796611353
Option 31D : 70796611354
Option 4 ID : 70796611356
Status : Answered
Chosen Option : 3
°1'8 The change of state from ice to water is accompanied by
Ans 1. decrease in temperature
« 2 increase in temperature
/< 3. absorption of heat
X 4 release of heat
Question ID : 7079662829
Option 11D : 70796611314
Option 21D : 70796611313
Option 31D : 70796611315
Option 4 ID : 70796611316
Status : Answered
Chosen Option : 2
Q.8 A village girl walks 3 km east starting from her home in search of water. She then turns south and walks 2 km, then she
2 tumns east and walks 7 km, then she turmns to her left and walks 2 km. Where is her home with respect to her position
now?
Ans 1. 10 km east
X 2 4 km east
v 3. 10 km west
X< 4 4 km west
Question ID : 7079662899
Option 11D : 70796611593
Option 2 ID : 70796611594
Option 31D : 70796611596
Option 4 ID : 70796611595
Status : Answered
Chosen Option : 3
Qés 152° Fahrenheit is equal to “Celsius.
Ans X 1. 56.67
V2 66.67
X 3 36.67
X 4 86.67
Question ID : 7079662830
Option 11D : 70796611320
Option 2 ID : 70796611318
Option 31D : 70796611317
Option 4 ID : 70796611319
Status : Answered

1




Ans o 1. 14 cm
X 2 145cm
X3 12cm
X 4 135cm

%8 What is the diameter of a circle if the area is 154 cm?? (Take 7w = 22/7)

Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 41D :
Status :

Chosen Option :

7079662858
70796611431
70796611432
70796611429
70796611430
Answered

1

Q.8 5 - s
5 Length-to-height ratio of a closed filled arrow head is:

Chosen Option :

Ans K 1..811
v23:1
X3 1:2
Xa1:1
Question ID : 7079662822
Option 11D : 70796611286
Option 21D : 70796611287
Option 31D : 70796611285
Option 4 ID : 70796611288
Status : Answered
Chosen Option: 3
@8 The day of the week on March 6, 1989 was:
Ans 1. Sunday
v 2. Monday
/< 3. Wednesday
/< 4 Tuesday
Question ID : 7079662866
Option 11D : 70796611461
Option 2 ID : 70796611462
Option 31D : 70796611464
Option 4 ID : 70796611463
Status : Not Answered

Ans 1. Punjabi

/< 3. Gujarati

+ 2. Maharashtrian

@8 ‘Bhakri’ and ‘Thalipeeth” traditionally belong to which cuisine?




/< 4 Rajasthani

Chosen Option :

Question ID : 7079662802
Option 11D : 70796611208
Option 2 ID : 70796611205
Option 31D : 70796611206
Option 4 ID : 70796611207
Status : Not Answered
Chosen Option : --
@8 The mass of an object is a numerical measure of its .
Ans X 1. velocity
/X 2. gravity
V' 3. inertia
X 4 acceleration
Question ID : 7079662820
Option 11D : 70796611277
Option 2 ID : 70796611280
Option 31D : 70796611278
Option 4 ID : 70796611279
Status : Not Answered
Chosen Option : --
Q.8 You are given a question and two statements. Identify which of the statements is/are necessary/sufficient to answer the
9 question.
Question: What is the woman's age?
Statements:
1) She is 3 years younger than her husband, who will become 40 years old after 5 years.
1I) She was 20 years old when she gave birth to her son who is now 12 years old.
Ans 2 1. T alone is sufficient while II alone is not sufficient
< 2. Neither [ nor II is sufficient
< 3. 1I alone is sufficient while I alone is not sufficient
« 4 Either I or II is sufficient
Question ID : 7079662890
Option 11D : 70796611557
Option 2 ID : 70796611560
Option 31D : 70796611558
Option 4 ID : 70796611559
Status : Not Answered

Q9 A
0

Ans o< 1. Coder
< 2. Keyway
# 3. Facet
W' 4 Leader

is a line from a note or radial dimension that ends in an arrowhead pointing at the edge of the feature.

Question ID : 7079662825




Option 11D : 70796611299
Option 2 ID : 70796611297
Option 3 1D : 70796611300
Option 4 1D : 70796611298
Status : Not Answered
Chosen Option : --
Q1-9 Choose the correct option from the given ones to complete the given series.
XW, TS, PO, LK, ?
Ans 1. TH
X2 1
V'3 HG
X 4 GF
Question ID : 7079662878
Option 11D : 70796611511
Option 2 ID : 70796611509
Option 3 1D : 70796611510
Option 4 1D : 70796611512
Status : Answered
Chosen Option: 3
@9 Vikram Seth is best known for his poem
Ans o 1. The Frog and the Nightingale
/< 2. Father Returning Home
/< 3. Lone Fox Dancing
/< 4. Enterprise
Question ID : 7079662805
Option 11D : 70796611219
Option 2 ID : 70796611220
Option 3 1D : 70796611217
Option 4 1D : 70796611218
Status : Not Answered
Chosen Option : --
Qé9 An article was sold for 945, at a loss of 10%. What was the cost price of the article?
Ans X 1. %1,025
v 2 1,050
< 3. %1,000
X 4 %1,035
Question ID : 7079662853
Option 11D : 70796611410
Option 2 ID : 70796611412
Option 31D : 70796611409




Option 4 ID : 70796611411
Status : Answered
Chosen Option : 4
Q.9 If1-+JmeansIisthe daughter J. T - T means I is father of T and I * J means I is the mother of J. then which of the
4 following options shows that G is the father of F?
Ans X 1. G*H+E-F
X2 G+H*E-F
X3 G*I+E-F
V4 G-H+E*F
Question ID : 7079662885
Option 11D : 70796611540
Option 2 ID : 70796611539
Option 31D : 70796611538
Option 4 ID : 70796611537
Status : Not Answered
Chosen Option : --
Qég Which of these organisations is NOT a United Nations specialized agency?
Ans X 1. FAO
X2 ILO
v 3 ASEAN
& 4 WHO
Question ID : 7079662807
Option 11D : 70796611226
Option 2 ID : 70796611228
Option 31D : 70796611227
Option 4 ID : 70796611225
Status : Not Answered
Chosen Option : --
Q.9 An article was sold for 2,500. Had a discount of 109 been offered, a profit of 12.5% would have been made. What
6 was the cost price?
Ans X 1. 2,100
< 2 %1,800
X 3 %2250
W 4 %2.000
Question ID : 7079662854
Option 11D : 70796611414
Option 2 ID : 70796611413
Option 31D : 70796611415
Option 4 ID : 70796611416
Status : Not Answered
Chosen Option : --

1

= is closest to:

Q.9 g B i
7 The value of v




An

s X 1.0.71

v 2 0.73

Chosen Option :

<3 042
X 4 0.64
Question ID : 7079662873
Option 11D : 70796611491
Option 2 ID : 70796611492
Option 31D : 70796611489
Option 4 ID : 70796611490
Status : Not Answered
Chosen Option : --
Q.9 Given below are two statements, followed by two conclusions, I and II. You have to consider the statements to be true
8  even if they seems to be at variance with commonly known facts. You have to decide which of the given conclusions, if
any, follow(s) from the given statements.
Statement 1 : All minutes are seconds.
Statement 2 : No seconds are hours.
Conclusion I : No hours are seconds.
Conclusion IT : Some minutes are hours.
Ans o 1. Only conclusion I follows
#< 2. Neither I nor II follows
75 3. Only conclusion II follows
< 4 Both I and II follow
Question ID : 7079662886
Option 11D : 70796611541
Option 21D : 70796611544
Option 31D : 70796611542
Option 41D : 70796611543
Status : Answered
Chosen Option : 2
Qé9 The sum of twice a number and 7 times its reciprocal is 15. The number is:
Ans x 1. 3
X235
X309
v 7
Question ID : 7079662863
Option 11D : 70796611449
Option 2 ID : 70796611450
Option 31D : 70796611452
Option 41D : 70796611451
Status : Not Answered

Ans

Q.1 Two village women M and N start walking from the same point. M walks 4 km west, then turns left and walks 2 km.

00 Meanwhile N walks 6 km south, then turns west and walks 4 km, then turns left and walks 1 km. Where is N with
respect to M?




& 1. N is 9 km south of M
& 2. N is 9 km north of M
& 3. Nis 5 km north of M
v 4 N is 5 km south of M

Question ID :
Option 11D :
Option 2D :
Option 31D :
Option 41D :
Status :

Chosen Option :

7079662900

70796611599
70796611600
70796611597
70796611598
Not Answered

Section : Physics and Maths

be

Ans X1 oc3
2 3
X3
X4 20

Q.1 The thermal coefficient of linear expansion of a material is o . Then the thermal coefficient of its volume expansion will

Question ID
Option 11D
Option 2 ID
Option 31D
Option 4 1D

Status

: 7079662960

: 70796611837
: 70796611839
: 70796611838
: 70796611840
: Not Answered
Chosen Option :

Ans X1 2/3
V2 13
X3 4/5
F N V)

Q2 A dice is thrown, what is the probability getting composite number?

Question ID
Option 1 ID
Option 21D :
Option 31D :
Option 41D :
Status :

Chosen Option :

: 7079662938
170796611750

70796611749
70796611751
70796611752
Not Answered

Q3 The distance between A( 5.8) and B(4, -6)
Ans X1 412 unit
X 2 24157 unit




V'3 /197 unit

X 4 /147 unit
Question ID : 7079662924
Option 11D : 70796611693
Option 2 ID : 70796611694
Option 31D : 70796611695
Option 4 ID : 70796611696
Status : Answered
Chosen Option: 3
Q4 11 a triangle AABC AB= 13 cm, BC=84cm, and -8=90% then length of AC will be
Ans X' 1. 65 cm
X 2. 70 cm
'3 85cm
X 4. 60 cm
Question ID : 7079662921
Option 11D : 70796611682
Option 21D : 70796611683
Option 31D : 70796611684
Option 4 ID : 70796611681
Status : Answered
Chosen Option: 3
@5 In which quadrant do the point (-16, 9) lies
Ans 1. IV quadrant
/< 2. I quadrant
+ 3. 1II quadrant
/< 4 I quadrant
Question ID : 7079662923
Option 11D : 70796611692
Option 21D : 70796611689
Option 31D : 70796611690
Option 4 ID : 70796611691
Status : Answered
Chosen Option: 3

Q6 The series 1/3, 5/6, 4/3, 11/6, ... is in
Ans o 1. Arithmetic Progression

/< 2. Geometric progression

/< 3. Harmonic Progression

7< 4. Numeric progression

Question ID : 7079662914
Option 11D : 70796611653




Option 2 ID : 70796611654
Option 31D : 70796611655
Option 4 ID : 70796611656
Status : Not Answered
Chosen Option : --
Q7 Which of the following is not the SI base unit?
Ans  of 1. Coulomb
< 2. Metre
/< 3. Kilogram
/< 4. Ampere
Question ID : 7079662941
Option 11D : 70796611764
Option 21D : 70796611762
Option 31D : 70796611763
Option 4 ID : 70796611761
Status : Answered
Chosen Option: 1
Q.8 The radius of a circle is 25 cm and the length of one of its chords is 48 cm, the distance of the chord from the center will
be
Ans X1, 0cm
X 2 16 cm
< 3 13cm
v 4 7em
Question ID : 7079662934
Option 11D : 70796611734
Option 2 ID : 70796611736
Option 31D : 70796611733
Option 4 ID : 70796611735
Status : Not Answered
Chosen Option : --
Q9 If point C is equidistant from A(5, -6) and B(7. 8). coordinate of C will be
Ans X1 (6,3)
X2 (6,7)
V'3 (6,1)
X4 (4,3)
Question ID : 7079662925
Option 11D : 70796611699
Option 2 ID : 70796611698
Option 31D : 70796611700
Option 41D : 70796611697
Status : Answered
Chosen Option: 3

Q.1




velocity with which the ball was thrown will be

Ans 1. 58 8ms

0 A ball is thrown vertically upwards with initial velocity Vi and returns to its starting point in 6 seconds then the initial

X 2 19.6 m's
<3392 m/s
v 4 29.4m/s
Question ID : 7079662945
Option 11D : 70796611780
Option 2 ID : 70796611777
Option 31D : 70796611779
Option 4 ID : 70796611778
Status : Answered
Chosen Option: 1
Q.1 A capacitor of capacitance 800 pF is charged by an electric source of 100 V. The electrostatic energy stored by the
1 capacitor is nearly
Ans x 1. 8 .{:' I[{I'f
X 2 4.0nj
3 40p
X 4807
Question ID : 7079662965
Option 11D : 70796611857
Option 2 ID : 70796611859
Option 31D : 70796611858
Option 4 ID : 70796611860
Status : Not Answered
Chosen Option : --
@1 Value of 23-5x17+85+17+120
Ans X197
X2 123
X3 79
v 4 63
Question ID : 7079662905
Option 11D : 70796611620
Option 21D : 70796611619
Option 31D : 70796611618
Option 4 ID : 70796611617
Status : Answered
Chosen Option : 4

Q; Value of sin(60°+x) + sin(60°-x) =?
Ans X143 cotx
X 2.2 cosx

v 3 /3 cosx




X 4 /3 sinx

Question ID : 7079662927
Option 11D : 70796611708
Option 2 ID : 70796611706
Option 31D : 70796611705
Option 4 ID : 70796611707
Status : Answered
Chosen Option : 4
Q.1 The ratio of molar specific heat capacities (Cp / Cv ) for a mole of diatomic (rigid) gas molecules is o (rigid diatomic)
4 as
Ans X 1. 9/7
X2 473
X3 53
v 75
Question ID : 7079662962
Option 11D : 70796611847
Option 2 ID : 70796611848
Option 31D : 70796611846
Option 4 ID : 70796611845
Status : Not Answered
Chosen Option : --
Q.1 An object is made to move with uniform speed such that the magnitude of its velocity remains constant with its
5 direction of motion continuously changing with time. Then, the unbalanced force acting on the object will be in the
direction
Ans x 1.
Inclined at an angle of 60° with the direction of its acceleration
/< 2. Opposite to that of its velocity
7< 3. Parallel to that of its velocity
« 4 Parallel to the direction of its acceleration
Question ID : 7079662950
Option 11D : 70796611800
Option 2 ID : 70796611799
Option 31D : 70796611797
Option 4 ID : 70796611798
Status : Not Answered
Chosen Option : --

Q.1 An electric motor has a power rating of 3.3 lew. If its motor turns at a rate of 120 rev/min the torque of the shaft of the
6  clectric motor required for the purpose will be nearly

Ans 1. 528 nm
& 2 396 nm
<3 3507

v 4 263nm

Question ID : 7079662958
Option 11D : 70796611829




Chosen Option :

Option 2 ID : 70796611830
Option 31D : 70796611832
Option 4 ID : 70796611831
Status : Answered
Chosen Option : 2
Q; Which one of the following cannot be the square of a natural number?
Ans X 1. 1681
v 2 3482
« 3. 3969
X 4. 2704
Question ID : 7079662902
Option 11D : 70796611605
Option 2 ID : 70796611607
Option 31D : 70796611608
Option 4 ID : 70796611606
Status : Answered
Chosen Option : 2
@1 Which of the following is a quadratic equation?
Ans -
K x243x3+5
X2 x3544y23
V'3 sx2a-7x
x 4. Xz_lerfi,_z
Question ID : 7079662911
Option 11D : 70796611643
Option 21D : 70796611642
Option 31D : 70796611644
Option 4 ID : 70796611641
Status : Answered
Chosen Option: 3
Q.1 Two lights waves having intensities in the ratio of 9 : 4, produce interference. Then the ratio of maximum to minimum
9 intensities in the resulting interference pattern will be
Ans X1.9: 1]
V2 25:1
X30:4
X4 25:4
Question ID : 7079662973
Option 11D : 70796611892
Option 21D : 70796611889
Option 31D : 70796611891
Option 4 ID : 70796611890
Status : Not Answered

Q.2




0 Two dice are thrown, what is the probability getting sum of number on both dice divisible by 77

Ans X1 113
v'2 1/6
X3 512
X 4 4/15

Question ID : 7079662940
Option 11D : 70796611757
Option 21D : 70796611758
Option 31D : 70796611760
Option 4 ID : 70796611759
Status : Not Answered
Chosen Option : --

Q2 If 4x+8=7, then x-3=?
Ans X 1. 1/6

X2 12/5

X3 .2/4

v 4 -13/4

Question ID : 7079662909
Option 11D : 70796611633
Option 2 ID : 70796611634
Option 31D : 70796611635
Option 4 ID : 70796611636
Status : Answered
Chosen Option : 4

@2 Circles having equal radii are called:
Ans X 1. Chord of the circle

< 2 Similar circles

+ 3. Congruent circles

#< 4 Center of the circle

Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 41D :
Status :

Chosen Option :

7079662932
70796611727
70796611725
70796611726
70796611728
Answered

2

Q.2 Dirt can be removed from a carpet by shaking it vigorously for some time in a process that is based on

3

Ans X" 1. Second law of motion

/< 2. Both third and second laws of motion
/< 3. Third law of motion

' 4 First law of motion




Question ID : 7079662948
Option 11D : 70796611789
Option 2 ID : 70796611792
Option 31D : 70796611790
Option 4 ID : 70796611791
Status : Answered
Chosen Option : 2
@2 Sound travels fastest in the medium
Ans 1. Hydrogen
X 2 Air
v 3. Aluminum
& 4 Sea water
Question ID : 7079662963
Option 11D : 70796611850
Option 2 ID : 70796611852
Option 31D : 70796611849
Option 4 ID : 70796611851
Status : Answered
Chosen Option: 3
Q.2 An object of mass m follows a circular path of radius r with a constant speed v in uniform circular motion. Then, the
5 work done by the centripetal force for the object to move once in a full circle is
Ans
&1 (MV2/r).2r
v 2. Zero
K 3 (MvEr).2ar
X 4 (MV2/r).2mr
Question ID : 7079662951
Option 11D : 70796611804
Option 2 ID : 70796611803
Option 31D : 70796611801
Option 4 ID : 70796611802
Status : Not Answered
Chosen Option : --
Q.2 Kirchoffs first rule of any junction of several circuit elements in an electric circuit is based on the law of conservation
6 of
Ans X 1. Mass
o 2. Charge
< 3. Linear momentum
/< 4. Energy
Question ID : 7079662966
Option 11D : 70796611861
Option 21D : 70796611862
Option 31D : 70796611863
Option 4 ID : 70796611864




Chosen Option :

Status : Answered
Chosen Option : 4
°7'2 Surface area of the Sphere is:
Ans _ 4
< (—) mir?
3
. 4
x 2 (—) mr?
5
. 3
X s (—) T
4
v 4 4?2
Question ID : 7079662936
Option 11D : 70796611741
Option 2 ID : 70796611742
Option 3 ID : 70796611744
Option 4 ID : 70796611743
Status : Answered
Chosen Option: 1
Qéz The radiant energy of the sun results from the process of
Ans X 1. Combustion
v 2. Nuclear fusion
/< 3. Nuclear fission
/< 4 Chemical reaction
Question ID : 7079662975
Option 11D : 70796611897
Option 2 ID : 70796611898
Option 3 ID : 70796611899
Option 4 ID : 70796611900
Status : Answered
Chosen Option : 2
Q.Z " ] . P . "
o Which one of the following physical quantities is a scalar quantity?
Ans 1. Dipole moment
/< 2. Angular momentum
/< 3. Torque
« 4 Electric current
Question ID : 7079662943
Option 11D : 70796611769
Option 2 ID : 70796611772
Option 3 ID : 70796611770
Option 4 ID : 70796611771
Status : Not Answered




@3 Which of the following is not an irrational number?
Ans X 14161

X 2463

V'3 31

X 4 \712

Question ID :

Option 11D
Option 2 ID

Option 4 ID
Status
Chosen Option

7079662903
170796611612

: 70796611609
Option 31D :

70796611611

170796611610
: Answered
o1

°1‘3 Value of 5in26 /cos64”

Ans x 1 ‘1'I7
X 3. 60°
&S
Question ID : 7079662929
Option 11D : 70796611713
Option 2 1D : 70796611714
Option 31D : 70796611716
Option 4 ID : 70796611715
Status : Answered
Chosen Option : 4
Q.3 Two objects A and B of masses 4 kg and 6 kg are acted upon by the forces F1 and F» required to accelerate them at 7
m/'s? and 4 m/s? respectively. Which of the following relationships between the force Fy and F5 holds true for the
required purpose?
Ans o 1. Fy>Fponly
X2 F1=F
X 3.
F1<F> or F1=F>, depending on the mass density of the material of the objects
X 4 F1<F; only
Question ID : 7079662949
Option 11D : 70796611794
Option 2 ID : 70796611795
Option 31D : 70796611796
Option 4 ID : 70796611793
Status : Answered

Chosen Option: 1

Q.3 : :
3 Sum of the zeros of the equation 3x2+2%-5 is?




Ans X 1. -5/3
2 23
<3 2/3
X453

Question ID : 7079662906
Option 11D : 70796611623
Option 2 ID : 70796611622
Option 31D : 70796611621
Option 4 ID : 70796611624
Status : Answered
Chosen Option : 2

Qf’ Which one of the following physical quantities represent stress?
Ans 1. Force / length

/< 2. Impulse / volume

+ 3. Restoring force / area

/< 4 Energy/ area

Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 41D :
Status :

Chosen Option :

7079662942
70796611767
70796611768
70796611766
70796611765
Answered

1

Q.3 A car of mass 800 Kg is moving on an expressway. In order to increase the speed of the car from 54knvhr to 90kny/hr
5 the work required to be done will be

Ans 51 150 KJ
v 2 160 KJ
X 3 250KJT

X< 4 200KJ

Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 41D :
Status :

Chosen Option :

7079662952

70796611805
70796611806
70796611807
70796611808
Not Answered

063 The power factor of a series LCR circuit at resonance is

Ans X1 0,707

X 2.0.50
< 3.0.00
v 4 1.00




Question ID : 7079662972
Option 11D : 70796611887
Option 2 ID : 70796611888
Option 31D : 70796611885
Option 4 ID : 70796611886
Status : Answered
Chosen Option : 1

@3 If cose= 24/25 then cote will be
Ans X 1. 25/24

X 21924

V'3 24/7

X 4 7/24

Question ID : 7079662926
Option 11D : 70796611703
Option 2 ID : 70796611704
Option 31D : 70796611702
Option 4 ID : 70796611701
Status : Answered
Chosen Option : 3

Q.3 A monochromatic ray of light is incident on a medium at an angle of 60°. The reflecting rays is found to be completely
8  polarized. Then the refractive index of the medium is nearly

Ans X1 1.33
K 2 1.50
V'3 1.73
X 4 141
Question ID : 7079662974

Option 11D : 70796611894

Option 2 ID : 70796611893

Option 31D : 70796611895

Option 4 ID : 70796611896

Status : Not Answered

Chosen Option : --

Q.3 - e g 2 ; .
5. Which of the following is the property of similar triangle?
Ans 1. All angles are double to corresponding angles.

7< 2. All sides in both triangles are equal.

Vs

The ratio of the area of both triangles is proportional to the square of the ratio of their corresponding sides.

/< 4. The areas of both triangles are equal.

Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 41D :
Status :

Chosen Option :

7079662917
70796611668
70796611667
70796611665
70796611666
Answered

2




Q4 If 2x-y=7 and x-y= 6, then value of x and y will be
Ans X" 1.:5,=1

V21,5

X351

X4 -1,5

Chosen Option :

Question ID : 7079662910
Option 11D : 70796611639
Option 2 1D : 70796611638
Option 31D : 70796611637
Option 4 1D : 70796611640
Status : Answered
Chosen Option : 2
Q.4 Four identical balls, marked A, B, C and D are projected with a given projection veloeity Vo at angles of projection of
T 30°, 45° 60° and 90° respectively. Which one of these balls will achieve greatest vertical height?
Ans x 1. B
V2D
X3 A
XacC
Question ID : 7079662944
Option 11D : 70796611774
Option 2 ID : 70796611776
Option 31D : 70796611773
Option 4 ID : 70796611775
Status : Answered
Chosen Option : 2
Q.4 Imagine that there exists a planet that has half the radius of the earth and half its mass. Then, the acceleration due to
2 gravity on the surface of that planet in relation to the acceleration due to gravity g on the surface of the earth is
Ane X1 Gl=gia
V2 Gl=ag
X3 Ggl= g
Question ID : 7079662953
Option 11D : 70796611811
Option 2 1D : 70796611810
Option 31D : 70796611812
Option 4 ID : 70796611809
Status : Not Answered

Ans X 1. Viscosity

Qé“ Which of the following will not exist for a liquid in a gravity — free space




X 2. Surface tension
' 3. Upward thrust

/< 4. Pressure

Question ID : 7079662955
Option 11D : 70796611818
Option 21D : 70796611817
Option 31D : 70796611819
Option 4 1D : 70796611820
Status : Answered
Chosen Option : 4
Q.4 A ball. having speed Vi moves in a straight line under the influence of a constant acceleration a. Then its final speed
4 after travelling a distance x for time t will be
Ans x
X1 ()
“ 2. Vpt2lax
1
X 3 Vyr-at?
2
2x.
X4 (=)= Vo
t
Question ID : 7079662946
Option 11D : 70796611781
Option 2 ID : 70796611782
Option 31D : 70796611783
Option 4 ID : 70796611784
Status : Answered
Chosen Option : 3
Q.4 When the potential difference across a resistive conductor of resistance R obeying ohm’s law, is doubled, the rate of
5 generation of heat will become
Ans 1. Two times
/< 2. One-forth
& 3. Half
v 4 Four times
Question ID : 7079662969
Option 11D : 70796611873
Option 2 ID : 70796611876
Option 31D : 70796611875
Option 4 ID : 70796611874
Status : Not Answered
Chosen Option : --

Q.4 A resonant system has a fundamental frequency of 140 Hz. If the next higher frequencies that are able to give resonance
6  are 280 Hz and 420 Hz the system could be

Ans 5 1. An organ pipe closed at both ends
+ 2. An organ pipe open at both ends
/< 3. An organ pipe closed at one end and open at the other end




/< 4. A taut string vibrating between two fixed points.

Question ID
Option 11D

Option 31D
Option 4 ID

1 7079662964
1 70796611854
Option 21D :
1 70796611856
: 70796611855
Status :
Chosen Option :

70796611853

Not Answered

Q.4 £ 2
5" Area of the Trapezium is

e < (l) % basexheight

4

X2 (2) x base-height

V'3 (2) x (Sum of parallel sides) x height

2

/< 4 Base x height

Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 41D :
Status :

Chosen Option :

7079662935
70796611738
70796611739
70796611737
70796611740
Answered

3

Q{;4 Zeros of the equations x2-Tx+6=0 are
Ans 1. Real and equal

7< 2. One is real and one imaginary
# 3. Imaginary

+ 2 Real and unequal

Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 41D :

Status :
Chosen Option :

7079662913
70796611649
70796611652
70796611650
70796611651
Answered

4

Ans of 1. 1/6
X2 4/5
<3 1/3
X 4 2/3

Qé“ A dice is thrown, what is the probability getting number divisible by 47

Question ID : 7079662939




Option 11D : 70796611756
Option 2 ID : 70796611755
Option 31D : 70796611753
Option 4 ID : 70796611754
Status : Not Answered
Chosen Option : --
Q.5 Arigid body is made to rotate about an axis of rotation. Its moment of inertia about the axis of rotation depends on
0
Ans X 1. Its angular momentum only
/< 2. Tts angular velocity only
Vs
The distribution of its mass about the axis about which it rotates, and also the orientation and position of this axis of
rotation
7< 4. The torque applied only
Question ID : 7079662957
Option 11D : 70796611826
Option 2 ID : 70796611825
Option 3 ID : 70796611828
Option 4 ID : 70796611827
Status : Not Answered
Chosen Option : --
°1-5 Which of the following is not a Pvthagorean triplet?
Ans  of 1. 20, 99, 100
X 2. 8.15,17
X3 12, 35,37
X 4. 20,21,29
Question ID : 7079662920
Option 11D : 70796611680
Option 2 ID : 70796611677
Option 3 ID : 70796611678
Option 4 ID : 70796611679
Status : Answered
Chosen Option: 1
Qé5 In a triangle AABC AB= l6cm, BC=63cm, and AC=65cm then triangle will be
Ans % 1. Obtuse angle triangle
+ 2 Right angled Triangle
/< 3. Acute angle Triangle
/X 4. Equilateral Triangle
Question ID : 7079662922
Option 11D : 70796611686
Option 2 ID : 70796611687
Option 3 ID : 70796611685
Option 4 ID : 70796611688




Status : Answered
Chosen Option : 3
Q.5 th . ’
3 19" term of the series 22, 26, 30, 34, ... is
Ans X 1. 96
< 2. 90
v 94
X492
Question ID : 7079662915
Option 11D : 70796611660
Option 2 1D : 70796611657
Option 31D : 70796611659
Option 4 ID : 70796611658
Status : Answered
Chosen Option: 3
Q.5 Four cells of emf 1.5 V each are connected in parallel combination of cells. Then the output voltage of the parallel
4 combination is
Ans X 1. 40V
v215v
X3 60V
X425V
Question ID : 7079662968
Option 11D : 70796611870
Option 21D : 70796611871
Option 31D : 70796611869
Option 4 ID : 70796611872
Status : Answered
Chosen Option: 3
Q.5 — s / $ooy
5 If X+ 1/x=4, then value of X"+ 1/ =2
Ans x 1. 64
v 2 52
X3 96
X 4 85
Question ID : 7079662908
Option 11D : 70796611629
Option 2 ID : 70796611630
Option 31D : 70796611632
Option 41D : 70796611631
Status : Answered
Chosen Option : 2

Qé.s Zeros of equation x2-9x+18=0 are
Ans x 1. —5., 2
x 2. 63 P2




X3 -2,-6
w436

Question ID : 7079662912
Option 11D : 70796611648
Option 2 ID : 70796611646
Option 31D : 70796611647
Option 4 ID : 70796611645
Status : Answered
Chosen Option : 4
Q.5 Two resistors, A and B are connected in parallel combination in an electric circuit as to have an equivalent resistance of
7 3 Q. Onconnecting the resistors A and B in series combination the equivalent resistant is found to be 120, Then the
resistance R1 and R2 of the two resistors A and B respectively could be
Ans - .
X180 40
X 2 10Q;2Q
/< 3.9Q:30
v 460 6Q
Question ID : 7079662967
Option 11D : 70796611866
Option 2 ID : 70796611868
Option 31D : 70796611865
Option 4 ID : 70796611867
Status : Answered
Chosen Option : 4
Qés Value of 5in60°/cos60°
Ans |
v 13
X 2 60°
X3l
X4 12
Question ID : 7079662928
Option 11D : 70796611709
Option 2 ID : 70796611712
Option 31D : 70796611711
Option 4 ID : 70796611710
Status : Answered
Chosen Option: 1

9 then triangles are:

Ans X 1. Isosceles

v 3. Similar
/< 4 Equilateral

/< 2. Right angled triangle

Q.5 Ifin triangle AABC AB=2em, BC=4cm. and AC= 5 cm and in triangle APQR PQ= 12em, QR= 24 cm, and PR=30 c¢m,

Question ID : 7079662919




Option 11D : 70796611676
Option 2 ID : 70796611675
Option 31D : 70796611674
Option 4 ID : 70796611673
Status : Answered
Chosen Option : 3
Q.6 A moving coil galvanometer can be converted into a ammeter by connecting to the moving coil galvanometer
0
Ans o 1. A low resistance in series
« 2. A low resistance in in parallel
75 3. A high resistance in parallel
/< 4. A high resistance in series
Question ID : 7079662971
Option 11D : 70796611883
Option 2 1D : 70796611884
Option 31D : 70796611882
Option 4 ID : 70796611881
Status : Not Answered
Chosen Option : --
Q.6 Anideal gas heat engine operates in a Carnot Cycle, absorbing heat from a heat source as a hot reservoir at a
1 temperature of 127° C. It rejects heat to the sink at a colder reservoir at a temperature of 87° C. Then the efficiency of
the engine is nearly
Ans X 1. 26%
X 2 68%
v 3 10%
X 4.32%
Question ID : 7079662961
Option 11D : 70796611841
Option 21D : 70796611843
Option 31D : 70796611842
Option 4 ID : 70796611844
Status : Not Answered
Chosen Option : --
Q.6 Moment of inertia of a thin circular ring of mass M and R rotating about an axis, passing through its centre and
2 perpendicular to the plane is
Ans J 1 2
X 2 MR2/4
X3 MRY2
X 4 (2/5) MR?
Question ID : 7079662956
Option 11D : 70796611821
Option 2 ID : 70796611823
Option 31D : 70796611822
Option 4 ID : 70796611824
Status : Not Answered




l

Chosen Option

Ans of 1 5cm
/2 13cm
A3 4cm
K 4 12cm

Q.6 If length of the tangent is 12 em and distance from circumference is 8 cm then radius will be
3

Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 41D :
Status :
Chosen Option :

7079662933

70796611732
70796611730
70796611731
70796611729
Not Answered

@ Which of the following is an irrational number?
A X 481

X 242804196

| )

v 3 \3x\144

. i |

X 4. \49+64
Question ID : 7079662904
Option 11D : 70796611614
Option 2 ID : 70796611616
Option 31D : 70796611615
Option 41D : 70796611613

Status : Answered
Chosen Option : 3
Q.6 .
5 IfX- 1/x=8, then x>- 1/x°=?
Ans X1 678

v 2 536

< 3. 696

X4 512
Question ID : 7079662907
Option 11D : 70796611627
Option 21D : 70796611625
Option 31D : 70796611628
Option 4 ID : 70796611626

Status : Answered
Chosen Option : 2

Ans % 1. Electromagnetic induction

' 2. Chemical effect of electric current

Q.6 The process of electroplating. using the phenomenon of electrolysis, is primarily based on
6




/< 3. Heating effect of electric current

/< 4. Magnetic effect of electric current

Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 41D :
Status :

Chosen Option :

7079662970

70796611880
70796611877
70796611878
70796611879
Not Answered

10000 m?
1000 m?
7000 m?
15400 m?

Q7-6 The circumference of a circular field is 440 m, the area of the circular field will be?

Ans o g
X 2
X 3
v

Question ID
Option 11D
Option 2 ID
Option 31D
Option 4 ID

Status

: 7079662937

170796611746
170796611745
170796611748
1 70796611747
: Not Answered
Chosen Option :

Ans X1
X 2
v &)
y 8

1x2
21
1:4
1:1

Q.6 Two wires, A and B, of same material and length are stretched by applying the same load. If the diameter of wire A is
8  twice that of wire B, then the ratio of the extensions produced in the wires by applying the same load will be
p y applylng

Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 41D :
Status :

Chosen Option :

7079662954

70796611816
70796611813
70796611814
70796611815
Not Answered

Ans 1.
v
X s
X 4

%° The specific heat capacity of water is

540 KI'KG°C
4186KI/KG°C
2260KI/KG*C
335 KIV'KG°C

Question ID : 7079662959
Option 11D : 70796611836




Option 2 ID : 70796611834
Option 31D : 70796611833
Option 4 ID : 70796611835
Status : Answered
Chosen Option : 2
Q.7 The angle of elevation of the sun, when the length of the shadow of a tree is equal to the height of the tree, is:
0
Ans X 1. 75°
X 2. 30°
X3 60°
v o450
Question ID : 7079662931
Option 11D : 70796611724
Option 2 ID : 70796611721
Option 31D : 70796611723
Option 4 ID : 70796611722
Status : Not Answered
Chosen Option : --
°1'7 Two triangle are called similar if
Ans 5 1. No angles of two triangles are equal
X 2
One angle and one side is equal to another triangle angle and side
v
The two angles of one triangle are equal to the two angles of the other triangle
/< 4. No sides are equal
Question ID : 7079662918
Option 11D : 70796611672
Option 2 ID : 70796611670
Option 31D : 70796611669
Option 4 ID : 70796611671
Status : Answered
Chosen Option : 3
@7 For which value of k 5, 4+k and 6 are in AP?
Ans of 1. 3/2
X2 Y,
<3 1/3
X4l
Question ID : 7079662916
Option 11D : 70796611662
Option 2 ID : 70796611663
Option 31D : 70796611664
Option 4 ID : 70796611661
Status : Not Answered
Chosen Option : --




Ans x1, 1

&7 For which value of k number 345k6 is divisible by 3

X2 4
v 6
K42
Question ID : 7079662901
Option 11D : 70796611601
Option 21D : 70796611603
Option 31D : 70796611604
Option 4 ID : 70796611602
Status : Answered
Chosen Option: 3
Q.7 A bullet of mass 0.05kg is moving with a speed of 900v/s and hits a heavy wooden block. The bullet enters the block
4 and stops at a depth of 30 cm. Then the average force exerted by the wooden block on the bullet to resist the motion is
Ans of 1. 675N
X2 150N
X3 250N
X4 270N
Question ID : 7079662947
Option 11D : 70796611787
Option 2 ID : 70796611788
Option 31D : 70796611786
Option 4 ID : 70796611785
Status : Not Answered
Chosen Option : --
Q.7 The angle of elevation of a ladder leaning against a wall is 45° and the foot of the ladder is 15m away from the wall. The
5 length of the ladder is:
Ans -
X 1 1042m
X2 20m
X3 1842m
v 4 152m
Question ID : 7079662930
Option 11D : 70796611717
Option 21D : 70796611720
Option 31D : 70796611719
Option 41D : 70796611718
Status : Not Answered
Chosen Option : --






